Spring Test 1

1 X 6 =24 2| 1=04+

3| 52= q | 320 X = 3200

S = 7534 + 4 6 | 64=

7 | 643.1 = 10= 8| 7+6= —5

|U1

4>|—‘
—
N

o = > of48 10

1| 6= 12 | 78.341 X 1000 =

13| 5+2= 14| 9-(5+2)=

U U

15 | 6285 X9 = 16 | 6001 — 3125 =

U U
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Spring Test 1 (continued)

17 | 7 14655 18 | 48.7 =348 +
19 =3X(4+2) 20| 9200 — = 642
21| 7056 = X 8 22| 20+-(4+1)=
23 = 68.1 — 9.62 294 22|7128 (2 marks)
25 | 733268+ 92 +3785= 26| 427434 @2 marks)
27 3 7 6 (2 marks)
X 59
27 0 [Total marks /30)
How well did you do? +with correct place value | 18 | 23 | 25
Colour the numbers of the — with zeros 16 | 20
questions you got correct. orxby10,1000r1000 | 4 | 7 | 12
Long x and long + 24126 | 27
Fractions 9 110113
Missing numbers 1 214168 [18|20] 21
Brackets 14119 | 22
+ 8 |10|13 (14 119|22]|25
- 2 [14]16]18)20]23
X 3 9| M |12]115]119 |27
+ 1 41516 |79 |17 ]21(22]|24]26
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